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2018 &£ 11 B
Y& AE
S HER PR ED R EE R
(kg/hr) (kg/hr) (kg/hr) =D,
(a) [FHEEH — B/NERPEE(BEREEREN AR EE)
(CGA 2.277 0.005 - 0.020 0.009 &
S TR 1.512 0.005 - 0.513 0.085 =
/b= (HCI) 4.545 0.008 - 0.233 0.117 s
mIbE (HF) 0.306 0.001 - 0.127 0.049 s
—E/Ehi (SO2) 15.147 0.063 - 8.392 1.948 =
—&Ei% (CO) 7.578 0.000 - 0.106 0.057 =
FALY) (NOx)
PL=&1E%E (NO2) 30.303 0.935 - 6.215 2.011 =
EHE
(b) [FHEEEH — HYE (HFREHRENLGREE)
(EGA 0.756 0.007 - 0.012 0.009 &
S T 0.756 0.034 - 0.132 0.085 =
/b= (HCI) 0.756 0.096 - 0.130 0.117 s
mIbE (HF) 0.072 0.040 - 0.055 0.049 =
— &b (SO2) 3.789 1.406 - 2.562 1.945 =
—&Ei% (CO) 3.789 0.032 - 0.085 0.057 =
HAY) (NOx)
LIS [EE (NOy) 15.147 1.603 - 2.453 2.010 =
EHE
28 HERRE® RS S R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
R A 0.0378 <0.005 &
IR R g ) 7.575 x 10°° <5.616 x 1020 &
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Y& AF
S HER PR ED R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) [FHEEH — B/NERPEE(BEREEREN AR EE)
(CGA 2.277 0.002 - 0.030 0.006 &
S TR 1.512 0.000 - 0.553 0.091 =
/b= (HCI) 4.545 0.015 - 0.197 0.108 s
mIbE (HF) 0.306 0.000 - 0.097 0.044 s
—E/Ehi (SO2) 15.147 0.003 - 6.291 1.848 =
—&Ei% (CO) 7.578 0.000 - 1.344 0.034 =
FALY) (NOx)
PL=&1E%E (NO2) 30.303 0.207 - 7.402 1.548 =
EHE
(b) [FHEEEH — HYE (HFREHRENLGREE)
(EGA 0.756 0.004 - 0.009 0.006 &
S T 0.756 0.047 - 0.139 0.091 =
/b= (HCI) 0.756 0.076 - 0.153 0.108 s
mIbE (HF) 0.072 0.037 - 0.052 0.044 =
— &b (SO2) 3.789 1.389 - 2.225 1.851 =
—&Ei% (CO) 3.789 0.002 - 0.104 0.034 =
HAY) (NOx)
LIS [EE (NOy) 15.147 0.543 - 2.880 1.555 =
EHE
S8 HERRE® RS S R
(kg/hr) (kg/hr) (/)
() [ BFAEN (HET{EBFTER)
7K 0.003789 <0.0002 =
i fe SEHVAR 0.003789 <0.001 =
E4EEE" 0.0378 <0.0043 &
R R g ) 7.575 x 10°° <4.807 x 1010 &
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Y& BE
S HER PR ED R EE R
(kg/hr) (kg/hr) (kg/hr) =D,
(a) [FHEEH — B/NERPEE(BEREEREN AR EE)
(CGA 2.277 0.001 - 0.204 0.003 &
S TR 1.512 0.000 - 0.655 0.072 =
/b= (HCI) 4.545 0.005 - 0.155 0.083 s
mIbE (HF) 0.306 0.001 - 0.096 0.037 s
—E/Ehi (SO2) 15.147 0.067 - 5.693 1.751 =
—&Ei% (CO) 7.578 0.000 - 0.748 0.037 =
FALY) (NOx)
PL=&1E%E (NO2) 30.303 0.439 - 6.431 1.453 =
EHE
(b) [FHEEEH — HYE (HFREHRENLGREE)
(EGA 0.756 0.002 - 0.008 0.003 &
S T 0.756 0.022 - 0.150 0.072 =
/b= (HCI) 0.756 0.064 - 0.101 0.083 s
mIbE (HF) 0.072 0.021 - 0.045 0.037 s
— &b (SO2) 3.789 1.427 - 2.151 1.751 =
—&Ei% (CO) 3.789 0.001 - 0.126 0.037 =
HEY (NOx)
LIS [EE (NOy) 15.147 0.665 - 3.140 1.452 =
EHE
S8 HERRE® RS S R
(kg/hr) (kg/hr) (/)
() [ BFAEN (HET{EBFTER)
7K 0.003789 <0.0003 =
i fe SEHVAR 0.003789 <0.001 =
E4EEE" 0.0378 <0.0046 &
R R g ) 7.575 x 10°° <5.107 x 1010 &




Ve AL R

EFRAS R H S
2018 &£ 11 B
&% BF
S HER PR ED R EE R
(kg/hr) (kg/hr) (kg/hr) =D,
(a) [FHEEH — B/NERPEE(BEREEREN AR EE)
fotr 2.277 0.002 - 0.296 0.007 &
S TR 1.512 0.092 - 0.702 0.181 =
/b= (HCI) 4.545 0.000 - 0.081 0.032 s
mIbE (HF) 0.306 0.000 - 0.063 0.037 s
—E/Ehi (SO2) 15.147 0.166 - 5.971 1.792 =
—&Ei% (CO) 7.578 0.001 - 0.188 0.083 =
FALY) (NOx)
PL=&1E%E (NO2) 30.303 0.915 - 7.343 2.837 =
EHE
(b) [FHEEEH — HYE (HFREHRENLGREE)
fohr 0.756 0.003 - 0.029 0.007 &
S T 0.756 0.128 - 0.251 0.181 =
/b= (HCI) 0.756 0.015 - 0.048 0.031 s
mIbE (HF) 0.072 0.031 - 0.040 0.037 s
— &b (SO2) 3.789 1.655 - 1.885 1.793 =
—&Ei% (CO) 3.789 0.063 - 0.125 0.083 =
HEY (NOx)
LIS [EE (NOy) 15.147 2.007 - 4.137 2.829 =
EHE
S8 HERRE® RS S R
(kg/hr) (kg/hr) (/)
() [ BFAEN (HET{EBFTER)
7K 0.003789 <0.0003 =
i fe SEHVAR 0.003789 <0.0013 =
E4EEE" 0.0378 <0.0058 &
R R g ) 7.575 x 107 <6.438 x 1020 &
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